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ZU/WI/7/EXM/6
UNIVERSITY EXAMINATION 2014/2015

EXAMINATION FOR THE BACHELOR OF BUSINESS ADMINISTRATION AND MANAGEMENT/ BACHELOR OF BUSINESS INFORMATION TECHNOLOGY 

MATH 100/STAT 101:  BUSINESS MATHEMATICS.

DATE: AUGUST 2015                                                                                        TIME: 2 HOURS
INSTRUCTIONS: Answer question ONE [Compulsory] and any other TWO questions.
Question one (30 marks)  

 (a) Solve the following simultaneous equations by elimination method
(i)  2x – 3y = 8
                        

    3x + 4y = -5
                                                       

(4 marks)

 (ii) Solve the following simultaneously.

       X = y - 4

       3           3
                         2x – 5y = -7                                                                                      
(5 marks)
                  (iii)  Solve the following inequality. Illustrate with a number line
                            -2≤6x-1≤10                                                                                     
(3 marks)
(b) By use of difference rule, find the derivatives of:

i. y = 5x2 + 7x + 9

ii. y = 6x2 – 4xb                                                                                                                                                   

 (6 marks)
(iii) Mr. Chanuka invested ksh 200,000 in Taxco bank for 5 years.  If the rate of interest was 12%   compounded quarterly, how much did he get after the end of the five years?            
(4 marks)

 (d) Explain the importance of set theory in business.
                                          
(4 marks)

(e)In relation to the concept of time of money explain why people prefer current cash as opposed to future cash                                                                                                                 
 (4 marks)
Question two (20 marks) 
(a) Discuss five characteristics of a good capital budgeting technique / project appraisal method.                    

 
(5 marks)
(b) A company is in the process of procuring a project and is considering between investing in either project X or project Z.  These projects are mutually exclusive and the initial cash outlay is Ksh 400,000. The expected revenue from the two projects for 5 years is as given below and the Interest rate is 10 %.  
	Years 
	Project X
	Project Z

	1
	100,000
	100,000

	2
	110,000
	80,000

	3
	80,000
	120,000

	4
	50,000
	120,000

	5
	78,000
	140,000


As a finance manager advice the management of the best project using:

(1) NPV                                                                                   


(10 marks)
(2) IRR                                                                                     

(5 marks)
Question three (20 marks) 
Long Castling Breweries manufactures two brands of beer, Benko lager and Benoni lager. Benko has a contribution of Sh.4 per unit and Benoni has a contribution of Sh.3 per unit. Benko requires 30 machine minutes and 30 minutes labour hours and Benoni requires 30 machine minutes 20 labor minutes to manufacture a unit. Total available machine hours per day are 12hrs whereas total available labour hours per day are 14hrs.

Required:
(a) Write down all the inequalities in this problem                                          

(10 marks)                                                              
(b) How much of each brand should Long Castling produce if it wishes to maximize its daily contribution assuming that all the lager produced is sold                                            (5 marks)  
(c) Giving examples, explain application of linear programming in business              (5 marks)                          
Question four (20 marks)  
a) In a particular life insurance office, employees Sam, Juki, Waithera and Baraza have a diploma, with Sam and Baraza also having a degree. Sam, Macharia, Waithera, Thuo, Mwanzia and Kungu are associate members of the Chartered Insurance Institute (ACII) with Thuo and Mwanzia having a diploma.

Required:

Identifying set A as those employees with diploma, set C as those employees who are ACII and set D as having a degree:

i) Specify the elements of sets A, C and D                                                      

(3 marks)

ii) Draw a Venn diagram representing sets A, C and D, together with their known elements 



   
(5 marks)

iii) What special relationship exists between sets A and D?                               
(4 marks)

iv) Specify the elements of the following sets and for each set, state in words what information is being conveyed: 
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(4 marks)

v) What will be a suitable universal set for this situation?                                    (4marks)       
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